ihNg

4
% EREDRNHE

NG 4

TOXO@mEERDEL £,

| 2cm

C> ZCmf O |

—r—lEEEEEEEEEEEEEEEEEEEEE}

8cm

D 2X12=24

@ 16—8=8
8X8=64

@ 3X16=48

% 10 -3

O+2@+®
24+64+48=136

|36 cm’

r S
& A

| D 7x8=56
@ 7+8=15 @rtokx
5% 15="75

® 17—(74+5) =5 @Ortokx
5X25=125

| 7cm

|7—(7+5)
=5cm

~odl] CH{D+C)

56+75+125=256

9cm

©) | : —|

l|1+5
=]6cm

5cm

"4cm

| 3cm

I~ Xz 256cm

D 5%X4=20

@ |1 1+5=16 @rTtokx
Q—4=5 OoHokx
|6 X5=80

® 6x13=178

O+2@+®

[ Icm

®

9—4=5cm

DTV M THESIEFEFY X TEHNAYYO—RFTEXT,

l_ 20+80+78=178

|78 c m?

=]

.
S A
6cm

‘ \\ [l
OH>2BFEF VX :
https://ouchigakushu.com/




